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1997 1997
@ 997 2)998 ® 1997 @® — ©® 5
97 4+ x+ 1= (x* ~1)Q(x) +ax + bEt 5FH
x=14™,3=a+b

x=-19d, -1=-a+b
La=2,b=1

P | — (7 = ) == 2=k 1
X197 _x = (x2 - 1)Q(x)

x(x = 1)(x1995 4 x1994 4. 4 x4 1)
= (r=D(x+1)Q(x)

(x99 4 x99 b x4 1) = (x+ 1)Q(x)
o(1)°] O(x) ] e Al FolBE x =12 HdstH
20(1) = 1996 . (1) = 1%& = 998




45.

oA k3 - 2x? + mx - 45 x - 1 &2 e o

10

x+ 12 UE YA 7F 501t} ofnfl, m o] gh&

@ 6 @ 4 ® o0 @ -1

o)
3t

oAl % Q(x)

~&B

x=1=UStHR=m-5

O(x) & x+ 12 Ui U277} —50| B2

o(-1)=-5
DA x = -1 P
-1-2-m-4=-20(-1)+m-5
—2m =12

m= —6

-2 +mx-4=(x-1)Q(x)+m—-5---

¥ = 2x% + mx -4 = (x-1)Q(x) + R°|=} 5tA}.

@

ZHAHS AHSsHE

1 1 -2 m -4
1 -1 m-1
-1 1 -1 m-1|m-5
-1 2
1 -2{m+1

m+1l=-5. m=-6




xol gk tFadA] f(x) B 2x— 12 R3S 9] Kol 9(x), Y A7}
~201ek S xf()E x- ;2 e BT} qoAE A2 e
A7

D)2x0(x) -2, -1 @ 2x0(x) -1, -1

® %xQ(x) -2,1 @ %xQ(x)—l, 1

® %xQ(x) +1, 2




A f(0)E (x +2)? 02 o HO AT & + 42 e 3]
Gk f(0) 8 (x+2)%(x +4) 2 UE o, YHA]E FotH?
@3+ @ J(x+2)? ® 3(x+2)?

@ (x+2)(x+4) ® 3x%>+4x+3

B

f(x) = (x+22(x+4)0(x) + ax®> + bx + c2F ELH f(x)+=
(x+2)208 WProjdojx Bz

ax® + bx +c = a(x + 2)?

) = (x4+2)%(x + 4)0(x) + a(x +2)*

E f(x)E (x+4) 2 Y= f YHR|7} 30|82 f(-4) =

Fohe tolAe

|

(x+2)?




c O S e TR gx) B WHrolEeldlth f(x)E g(x) 2 U
%S Q(x) & Bk, Q(x)—%g(x) W= 53 HHAE 22 h(x),r(x)

f(x) =g(x)Qx)---Q
0(x) = g(x)h(x) + r(x) -

@- @l thdstH

= {2(x)} h(x)+g(x)r(x)
V(X)7}g() E‘r‘i{—ﬁ— P OJBR g(x)r(x) £ {g(x)}* Bt ¥
A4eolct,

wrebA, W 2] g(x)r(x) ©1aL F2 h(x) 1.




49.

ol A47F1 <l ”1}3}
2, f(3) = 30] At o

@9

@)10

A fx) ol ekl f(1) = 1, f(2) =

® 11

@ 12

® 13

2)=2,f(3) =3 °lA f(x) ==x
x—1,x-2,x—3 & el4+= Qb
—x=(x-1)(x-2)(x-3)
1(x-2)(x-3)+x f(4) =10

N
> ~—
3;

I

=
S

x) = (x-

f(x) = x3 +ax? + bx + ¢ 2 S'H
(i)fQ)=1=>a+b+c+1=1
(i) f(2)=2=>4a+2b+c+8=2
(i) f3)=3=9a+3b+c+2n=3
CEP RERC LR
a=-6,b=12,c = -6

= f(x) = x3-6x2+12x -6
Lf(4)=43-6x42+12x4-6=10




(x=2)*=a(x-3)* +b(x-3)>+c(x-3)? +d(x-3) +e 7} x °I

S A Y ), 2¢ - bd O] 27

w)x=4=16a-8b+4c—-2d+1=1
V)x=5=16a+8bh+4c-2d+1=1

91 5709] AL A5t a,b,c,d 9 S 2T
a=1,b=4, ¢c=6,d=4,e=1

S 2c—bd = -

)

i)
111)x_4za+b+c+d+1—16

)

)

~&B

x-2=tZ oA x-3=r-1

EAD A =alt-D)4 +bt-13+c(t-1)2+dt-1)+e
e 2EAHOR -1 2 A% e o, ok YA 7}
AR e,d,c,b 0|2 B} E Bo] 4 o]t}

1] 1

111




